SECTION-

Section-A has 20 questions, carrying | mark each. Sel

option from the given options :

If HCF (96, 104) = 8, then LCM (96 104) is :

(a) 96 (b) 404

(c) 1248 (d) 2496

mmufmCMBftMW'W"ﬁnlu

and a=0)1s:

(a) e (b) -
o a

(c) a-t—’ (d) —E

Discriminant of the quadratic equation I -6x+1=0is:

(a 24 (b) -24

(c) A48 (d)y 4%

The following pair of lincar equations have :
2x + 3y =-7

6x -9y =15

(a) No solution

(c) Two solutions

(d)  Only one solution

ect the most appProprig,,

! + bx — ¢ (where a, b, ¢ are real numpeg

(b) Infinitely many solutions
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9.

HCF of two prime numbers s
(a) | (b)
(¢) 3 (d)

Distance of the point (4, 3) from the ONgIn s

(a) 4 umts (b)
(¢c) Sunits (d)
30" term of the A.P.: 15,12, 9, ....18 "

(a) 45 (b)
(c) 42 (d)

If the first term of an A.P. 5 7 and 1ts | 3
A.P. will be:

P

25 units

J’? units

45

42

-J |

£

term is 35. then common difterence of this

In figure, if DE||BC and AD = 1.2 cm, DB = 3.6 cm and EC = 3 cm, then the value

(a) ;— (b)
4
~ (d)
(¢) r
of AC s :
(a) 1.2cm (b)
(¢) 3cm (d)

4cm

2cm

I
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12.

13.

=47°% /E=83°then £C is:

If AABC ~ ADEF and ZA
(a) 47° (b) 50° :
(c) 8% (d) 130°
The value of sin 30° cos 60° 15 |
J3
(a) z b) 5
4
(c) 3@- d) |
4
The maximum ~umber of tangents @ circle can have - ]
2
(a) | (b)
c) 3 (d) [nfinitely many
the length of the shado?

The shadow of 3 5 m long stick is 2 ™ long. At the same time,

ofa 2.5 m high tree (in m)is:

(@) 3 (b) 3.5
(c) 45 (d 5
The value of (tan” 45° - cos 60°) 15

| !
(a) 2 (b) 2
3 3
et d) =
(c) 2 (d) >
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15, If figure, if PA and PB are (w0 tangen

16.

17.

I8,

B

ts to a circle with centre O, such thay ZApp
= 600

then ZAOP is equal to : l

A
p<_ .’

B
b) 100°
(a) 120°
(d) 60°
(c) N° |
if P(E) = 0.96, then P(notE) is: '
04
(a) 40 (b)
(c) 0.04 (d) 0.004
- l
For the following distribution, the modal class 1S
| | 30 1 2030 | 30-40 | 40-50
Class interval | 0-10 10- il "
| Fret—]-ucﬁt-:y 5 7 6 | B
() 1020 (b)  20-30
Curved surface area of a cylinder, whose radius is 3 cm and height 14 cm IS |
(a) 396cm’ (b) 264 cm’
(C) 132 sz | (d) 4 sz

: X-MA
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Directions for Q.NO 19-20:
9 and 20, a statement of Assertion (A) is ru“nwtd

In the question number | |
the appropriate options from given below:
R). Choos®
by a statement of Reason (
ason (R) are correct and Reason (R) is the correg

(a) Both Assertion (A) and Re
of Assertion (A)-

explanation
orrect but Reason (R) is not the correct

| re ¢
(b) Both Assertion (A) and reason (R) 2

explanation of Assertion (A)-

‘ ng.
Assertion (A) is correct but Reason (R) is wrong

()
) is correct.

(d) Assertion (A) is wrong but Reason (R
L - divisible by 2.
‘ve positive INtegers 18 divisible
: The product of twWo0 consecutive p
19. Assertion (A)
: . oL .4
(R): The sum of exponents of prime factors in the pnme factorisation of 196 1s

Reason
. then the polynomial is

If 2 and 3 are the zeroes of a quadratic polynomia
I

70. Assertion (A):

x> - 5x +6.

Reason (R): If a, P are the zeroes of a quadratic polynomial, then the polynomial 1s

X} = (o +Pp)x+axp.
SECTION-B

Section-B consists of 5 questions of 2 marks each.

21, Find the zeroes of the quadratic polynomial x* + 3x — 10.

OR

If the zeroes of the polynomial x" +4x + 2a are o and 2 . then find the value of ‘a’.
o

X-MATHS-M

G Scanned with OKEN Scanner



22.

23.

25.

In AABC, right angled at B,

sin C.

In AABC, right angled at B, if 15 co! A=

Find the

OR

AD = £% Cin and bC = 7 cm. De

lermine the Valye

8, then find the value of sin A.

of

2

coordinates of the point which divides the line segment joining the points (4, --3)

and (8, 5) in the ratio 3:1 internally. R
74, Find mean marks for the following distribution. -

— — ——

Marks obtained 0-10 1020 | 20-30 | 30-40 | 40-50
ﬂ | 5
"Number of students | 2 3 3
_ | —
In figure if GE||CB and GF||CD, then prove that ~ iE— 2
- ' FD EB
13 X-MATHS-M
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SECTION-L

saﬂon-C Consta ot Questions of 3 marks each.

\ die s thrown once. Find the probability ©f getting:
i @ number divisible by 3

(ii) 8 prime number

(iii) 4 number greater than 5

d(-2,9)
Find the point on the x-axis which 1s eqdeSlaIll fro

OR

( X |

prove that the points (3, 0), (6, 4) and

triangle.

prove that \[2- is an irrational number.

sosceles

A paralle 3
rhombus.
D R C
54 a
A P 2}
X-MATHS-M
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gection-D consists of 4 questions of S marks each.

of a triangle 10 intersect the other twg

prove that if a line is drawn parallel to one side

’ same ratio. 5

s in disti ' - .ides in the
sides in distinct points, then this line divides other two sid

OR

rsect each other al point O such that

The diagonals of a quadrilateral ABCD inte

f‘_g = o . Prove that ABCD is a trapezium.
B0 DO

' 16" term is 73. Also find the sum
5. Find the 31* term of an A.P. whose | | term is 38 and

5
of first 10 terms of this A.P.

' same radius.
A toy is in the form of a cone of radius 7 cm —ounted on a hemisphere of

cm. Find the cc;st of painting th§ toy at the rate of T 5 pel

The total height of the toy is 31

'
2
100 cm”.

observed from the top of 80 m high lighthouse from the sea-level, the angles o

ression of two ships are 30° and 45°. If one ship is exactly behind the other on th

side of the lighthouse. find the distance between the two ships. (Take J3=1.73)
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4 OR —

les of equal heights are
Two pO lwwccn""mmm”m'wmgk’”fm g

L
-

s 80 m wide. F in * |
which 1s rom a po y. Find the heights of the pﬂ“"“g

Hectivel
the top Of the p()lcs are 60)° ﬂﬂd 30“ rcs‘xCﬂV
gistances of the point from the poles:

SECTION-Z

question® of 4 marks each.

rships 10 brilliant students of class-X

marks in this 151 will be awarded a scholarshsp

gection-E consists of 3 case based

y An organization held a test to provide
sudents securing 60% or more than 60%

of amoun! ¢ 2000 cach for one year.

ven below !
The marks obtained by the students of a school arc g1*

~Marks obtained | 0-20 20-40 | |
I T g 11

“Number of students 5

i

——

Based on the above information, answer the following questions :

(i)  Find the amount of scholarship the school will get from thf organisation. ]

(ii) Write the upper limit of modal class.

2

(i) Find the mode of the marks obtained by the students.

OR

Find the median of marks obtained by the students.

19
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.

shbp and purchased 3 pencils and 2 erasers fq, % 1o
. Ql";

37. Priyanka went to » Stationary
seein ' '
8 new variety of Pencils and erasers, her friend Ritu also bought 5 Pencilg an
d

erasers of the same kind for 31

Based on th * ' '
€ above Information, answer the following questions :

(1) Write the linear equations jn two variables for both the situation.

L] o *
- : ¢ )
(11)  Find the cost of | pencil,

(i) Find the cost of 2 pencils and 5 erasers.

OR

Which is expensive between pencil and eraser and by how much?

Meera bought a new houge. To decorate it, she purchased some items from the market

One of them was a round table cover. It had six equal designs as shown in the figure. The

radius of the round table cover is 35 cm.

X-MATH
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Based on the above information, answer the following questions :

(1)  Find the measure of the angle subtended by a chord at the centre
(i)  Find the area of sector AOC

(ir1) Find the arez of major sector AOC.
OR

Find the area of one desjgn, (Take s/?_ =1.7)
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